
SAP ABAP table VDHOBJ {Collateral Objects}

VDHOBJ

MANDT [CLNT (3)]

ROBJNR [NUMC (10)]

SOBJART [NUMC (2)]

SNUTZART [NUMC (4)]

SOBJBAU [NUMC (2)]

SOBJGEB [NUMC (2)]

SOBJLAGE [NUMC (2)]

SVERKEHR [CHAR (1)]

SOBJZUST [NUMC (2)]

SOBJAUST [NUMC (2)]

SGVER [CHAR (2)]

SKAUFWHR [CUKY (5)]

FEINS [UNIT (3)]

REINS [UNIT (3)]

JERBBAU [CHAR (1)]

BOBADRNR [CHAR (10)]

ADRC

CLIENT [CLNT (3)]

ADDRNUMBER [CHAR (10)]

DATE_FROM [DATS (8)]

NATION [CHAR (1)]

 VDHOBJ-BOBADRNR = ADRC-ADDRNUMBER 
{0,1}

1

T000

MANDT [CLNT (3)]

 VDHOBJ-MANDT = T000-MANDT 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 VDHOBJ-FEINS = T006-MSEHI 

0..N

1

 VDHOBJ-REINS = T006-MSEHI 0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VDHOBJ-SKAUFWHR = TCURC-WAERS 
0..N

1

TDO1

MANDT [CLNT (3)]

SOBJBAU [NUMC (2)]
 VDHOBJ-SOBJBAU = TDO1-SOBJBAU 0..N

1

TDO10

MANDT [CLNT (3)]

SOBJZUST [NUMC (2)] VDHOBJ-SOBJZUST = TDO10-SOBJZUST 0..N

{0,1}
TDO11

MANDT [CLNT (3)]

SOBJAUST [NUMC (2)]

 VDHOBJ-SOBJAUST = TDO11-SOBJAUST 
0..N{0,1}

TDO12

MANDT [CLNT (3)]

SOBJGEB [NUMC (2)]

 VDHOBJ-SOBJGEB = TDO12-SOBJGEB 

0..N

{0,1}

TDO8

MANDT [CLNT (3)]

SGVER [CHAR (2)]

 VDHOBJ-SGVER = TDO8-SGVER 

0..N

{0,1}

TDO9

MANDT [CLNT (3)]

SOBJERBBAU [CHAR (1)]

 VDHOBJ-JERBBAU = TDO9-SOBJERBBAU 

0..N

{0,1}

TIV01

MANDT [CLNT (3)]

SNUNR [NUMC (4)]

 VDHOBJ-SNUTZART = TIV01-SNUNR 

0..N

1

TIV44

MANDT [CLNT (3)]

SVERKEHR [CHAR (1)]

 VDHOBJ-SVERKEHR = TIV44-SVERKEHR 

0..N

0..N

TIV45

MANDT [CLNT (3)]

SOBJLAGE [NUMC (2)]

 VDHOBJ-SOBJLAGE = TIV45-SOBJLAGE 

0..N

1

TIV5A

MANDT [CLNT (3)]

SOBJART [NUMC (2)]

 VDHOBJ-SOBJART = TIV5A-SOBJART 

0..N

1


